odel diff(x1(t),t)=D (k01 k21) x1(t) k12 x2(t), diff(x2(t), t) =k21
x1(t) k12 x2(t)

odel ;= % x1(t) =D (k01 k21)x1(t) Ki12x2(t), % x2(t) = k21 x1(t) (1)
k12 x2(t)
odel
% x1(t)=D (k01 k21)x1(t) K12x2(t), % x2(t) =k21x1(t) Kki2x2(t)  (2)
ics x1(0)=20,x2(0)=0
ics:=x1(0) =20, x2(0) =0 3
dsolve([odel, ics])
X1(t) =L[D ES (( 10 k01 4)
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L(ko1 k21 k12 JVKOIZ 2KO1k2l 2K1ZKOL k212 2k2ikiz KiZ2 )t
2 (k012



2k01k21 2k12k01 k212 2k21k12 k122) % (( 10 k01
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2K01k21 2k12k01l k212 2k21k12 k122)

(%k01 %kZl %klZ %\/k012 2k01k21 2k12k01 k212 2k21k12 k122)t)/
e

(k012 2k01k21 2k12k01 k212 2k21kl12 k122) ) x2(t)

=1 _1 |spko1 %(( 10 k01

T 2 Kk12ko1l

10V k01° 2k01k21 2k12k01 k21° 2k21k12 k12° D 10k12



10k21) ( VK012 2k01k21 2ki12k01 k212 2k21k12 K122 k21

k01? 2k01k21 2k12k0l k21° 2k21k12 k122

JKk01? 2k01k21 2k12k0l k21° 2k21kl12 ki12° ko1

JK01Z 2k01k21 2k12k01 k212 2k21k12 k122 k12)

NI

(ko1 k21 k12 VK012 2KO1k2l 2KIZ2k01 k212 2k2ikiz KizZ )t
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012 2k01k21 2Kki2k0l k212 2k21kl12 k122) =+
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Jk01? 2Kk01k21 2k12k0l k21° 2k21kl12 ki12° k21 k01

2k01 k21 2ki12k01l k212 2k21k12 k122

JKk01? 2k01k21 2k12k0l k21° 2k21kl12 ki12° ko1

JK01Z 2k01k21 2k12k01 k212 2k21k12 k122 k12)



NI

(ko1 k21 k12 VKOIZ 2KOLk2l 2KIZ2kOl k212 2k2ikiz KizZ )t
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Jk01? 2k01k21 2k12k0l k21° 2k21kl12 ki12° k21 k01

2k01k21 2ki12k01l k212 2k21k12 k122

JKk01? 2k01k21 2k12k0l k21° 2k21kl12 ki12° ko1
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KoL e 2 2 2 2

/(k012 2Kk01k21l 2Kk12k01 k212 2k21k12 k122) = ((
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2K01k21 2k12k01l k212 2k21k12 k122)

(1k01 Lvo1 Yo 1/%01Z Zkolk2l 2KiZKOI K212 2K21K1Z k122)t
K21 el 2 2 2 2

/(k012 2k01k21 2k12k0l k21> 2k21k12 k12?) % ((
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(Vk01Z 2k01k21 2k12k01l k212 2k21k12 k122 k21
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